St. Mary’s School, Dwarka
Holiday Homework
Class X
Week 1
Worksheet 1

Subject- English

Q1. Read the passage given below.

1.

The color of animals is by no means a matter of chance; it depends on many considerations, but in the
majority of cases tends to protect the animal from danger by rendering it less noticeable.

Perhaps it may be said that if coloring is mainly protective, there ought to be but few brightly coloured
animals. There are, however, not a few cases in which vivid colors are themselves protective. The
kingfisher itself, though so brightly colored, is by no means easy to see. The blue matches with the
water and the bird as it darts along the stream looks almost like a flash of sunlight.

Desert animals have generally the color of the desert. Thus, for instance, the lion, the antelope, and the
wild donkey are all sand-colored. “Indeed,” says Canon Tristram, “in the desert, where neither trees,
brushwood, nor even undulation of the surface afford the slightest protection to its foes, a modification
of colour assimilated to that of the surrounding country is absolutely necessary. Hence, without
exception, the upper feather of every bird, and also the fur of all the smaller mammals and the skin of
all the snakes and lizards, is of one uniform sand colour.”

The next point is the colour of the mature caterpillars, some of which are brown. This probably makes
the caterpillar even more conspicuous among the green leaves than would otherwise be the case. Let us
see, then, whether the habits of the insect will throw any light upon the riddle.

What would you do if you were a big caterpillar? Like most other defenseless creatures, you would
feed by night, and lie concealed by day. So do these caterpillars. When the morning light comes, they
creep down the stem of the food plant, and lie concealed among the thick herbage and dry sticks and
leaves, near the ground, and it is obvious that under such circumstances the brown colour really
becomes a protection.

It might indeed be argued that the caterpillars, having become brown, concealed themselves on the
ground and that we were reversing the state of things. But this is not so, because, while we may say as
a general rule that large caterpillars feed by night and lie concealed by day, it is by no means always
the case that they are brown; some of them still retain the green colour. We may then conclude that the
habit of concealing themselves by day came first, and that the brown colour is a later adaptation.

On the basis of your understanding of the passage, answer ANY TEN of the following questions.

(1/2x10=5)

What is the main idea of this passage?

a) Animals inherit their colouration from their parents and pass on the same genes to their offspring.

b) The colour of an animal is not coincidental, but is an adaptation developed over time to aid its survival.
c) The colouring of animals changes widely over time and in different parts of the world.

d) The coloring of mature caterpillars is very difficult to explain without considering the behavior patterns

they exhibit.
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ii. Which of the following will be the most appropriate title for the passage?
a) The Desert Animals
b) The Colour of Animals
c) The Colour of Caterpillars
d) The Story of Kingfisher’s Colour

iii. In the context of how it is used in the passage, the word ‘conspicuous’ means ..........

a) annoying

b) noticeable

c) dreadful

d) difficult to see

iv. Which of the following word can be used to replace the word ‘modification’ in paragraph 3?

a) fixation

b) vibration
¢) moderation
d) alteration

v. The example of the mature caterpillar is primarily intended to demonstrate ........c.cccccuevu.e.

a) how caterpillars have developed their specific coloring

b) the extreme variability of colour patterns among insects

c) the difficulty of explaining the reason behind specific colour patterns in animals
d) how genetic adaptation follows and helps behavioral patterns

vi. Why is it particularly important for desert animals to match their colouration to the colour of the

desert?
a) the predators in the desert are especially quick and deadly
b) the color tones of the desert are particularly suited to swift evolutionary adaptation
c) the barren, sparse environment of the desert ensures a lack of natural protection and cover
d) food and water are especially scarce in the desert

vii. Which of the following words represents the action of caterpillars as mentioned in the following
sentence?

“When the morning light comes, they creep down the stem of the food plant, and lie concealed among the
thick herbage and dry sticks and leaves, near the ground, and it is obvious that under such
circumstances the brown color really becomes a protection.”

a) occupation
b) camouflage
c) mimicking
d) evolution
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viii. The example of the kingfisher in the second paragraph is intended to prove that the color of an
animal is

a) always adapted to match the background color of its environment

b) is not always adapted to match the background color of its environment

C) an extraneous detail, evolutionarily speaking

d) statistically speaking, most likely to be adapted to match the background color of its environment

ix According to the passage when does a defenseless creature go in search of food?

a) during day

b) during night

c) whenever it is out of its living area
d) only during bright days

X. Which of the following is the opposite of the word ‘conceal’?

a) revival
b) reveal
C) revive
d) revert

xi. Which of the following is NOT synonymous in meaning to ‘danger’?

a) peril

b) hazard
c) risk

d) freedom

xii. What is the tone of the above passage?

a) sarcastic

b) authoritative
C) ironic

d) humorous

Q2. Read the extracts given below and attempt the questions that follow. (1/2x5=2.5)

Some say the world will end in fire,
Some say in ice.

From what I’ve tasted of desire

| hold with those who favor fire.

But if it had to perish twice,

I think 1 know enough of hate
To say that for destruction ice
Is also great

And would suffice.
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Q3.

a.
b.
C.
d.

oo owi

Who does ‘some’ refer to in the poem?

a. debators
b. people

c. politicians
d. poets

ii. What does the poet compare fire with?

a. extreme hatred
b. heat of desire
c. heat of the moment
d. end of the world
The rhyme scheme of the first stanza is.........

a. abaa
b. abab
c. abbb
d. abcd

. What does the word ‘ice’ symbolize?

a. love for money

b. lust for power

c. heat of desire

d. coldness of hate

Which word in the poem means ‘die’?

a. desire
b. perish
c. favour
d. suffice

Fill in the blanks by choosing the correct options given below.

I, the Taj Mahal last month.

had visited
was visited
visited

have visited

Everyone.................. so worried about the results.
has

are

was

were
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ii. 1 alwaysenjoy ............... cream and sugar in my coffee.
a. little

b. alittle

c. less

d. few

iv. Nagarjuna Sagar Dam is ....... masonry dam across ...... Krishna River.
a. an, an
b. the, a
C. a4

d. a, the

Q4. Read the following conversation and complete the paragraph given below. (1/2x4=2)

Preeti : Where did you spend your holidays?

Naman : [ went to many hills stations.

Preeti : Which one did you like the most?

Naman : Honestly speaking. I liked all as | am very fond of hills.

Preeti asked Naman(i) . Naman replied,(ii) . Preeti then asked
him (iii) -. Naman said
that (iv)
Q5. Choose the most appropriate word from the bracket to fill in the blanks:- (1/2x5=2.5)
i.  She told me that she was unwell so she........... not go to office.(could/can)

ii.  The visitors ........... not carry eatables with them in the hotel.(should/would)

iii.  Asheis in dire need of money, we............... help him immediately.(ought to/should)

V. you please lend me your book for a week? (Could/May)

V.  His son is not so brilliant in his studies but he............. pass the examination.(could not/ cannot)

Q6. You are Aman/Asha Dubey residing at 24, Submarine Enclave, Halley’s Road, Mumbai. Write a letter to
the Editor of a newspaper complaining about improper garbage disposal in your locality since last two months

in 120 to 150 words. (3)
Q7. Answer the following questions in 20 to 30 words.

()Why did Lencho say the raindrops were like new coins? (@D

(i)Why did Lench write a letter to God? 1)
Q8. Answer the following question in 40 to 30 words. (1.5)

What message does the poet want to convey through the poem ‘The Dust of Snow’.

Q9. Briefly write the ideas about how the world will come to an end as discussed in the poem ‘Fire and Ice’.

)

Q10. Solve the given puzzle based on the characters of the lesson ‘The Letter to God’. (2.5)
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ACROSS

2. post office employees (donate generously to help Lencho)
4. Lencho's wife (strong faith in God)
5. Postmaster (friendly)

DOWN

1. Lencho (immature)
3. Postman (laughs when he sees the letter)
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Project

Read the poem ‘A Tiger in the Zoo’ and analyse it using the SWIFT technique.

S: Structure -How is the poem organised? Are there rhyme lines or sound words?

W: Word choice- What specific words does the poet use to elicit emotions? To what effect?

I: Imagery- What images does the poet paint with words?

F: Figurative language- How does the figurative language affect/enhance the poem?

T: Theme and tone- What is the poet’s message? (One complete sentence that appeals universally to life) What
is the poet’s attitude?

Make a video collage of the poem using related pictures depicting the theme of the poem using ‘Canva’ or
any other app that you may find useful.
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Subject - Hindi

fAder 1 foe o weft yesll & Iaax fadt ot 3w - yfeawT dt fafawe |
2 oFf ¥aee , TGy vd WK o d Fif5w | M.M. 25

et 1 fAsafaf@a scare o yeot uzell © sax dEe ¢ (7)
deIeTd of 3el el forelt @ wcee! @ ferenm & |30 ®er —3[@ ga W@-gRd B derel
A Jdad @l I & |gd WA 3IeTeT-31c1a1 feensi @I areror o=l | dlal gfRaelt ot Aar o2 | 38
off gra & Had ®x | H 5Tl 5161 ®I BeA] TRl § | 3T Hd $HA AR HAeRID deil |3 ot
314 U Tl B BIS®T 316 Sl%Hdll | FEAcl 9 dlel ®Igad d¢] wed 8 |gay o el ol
e fo d ufay 3ifder @t yom wra & 13Eden @ Aardl 3ad e 3w yon fafar 9 fag
GeIdl ® IRVl Joidl dgd 36T Hrd o | 3¢ ®Y dlel Goll 3RId ol |URd ga¢l of BIgg
ge3il @ a8 oS W et &Y o oft | QR wiearI Uz Je®l agd Ueld o | BIeeIu I ugeel
U gqU o a3 s W urefar @ fo d 3@ 3mel 8w dA GEwd @I TS ol ®f qQul
@0 | BITIY o gaU @ JoNdR,2Md d=d @l 30k &I 30 W UT 3eial a1 3itw enfa
favrsianer eff |oreay o 3wefl snfeore efeae & sifdied fasr wfea sfie ser wrast aral
deIeld @I fRIwrca wdier for |gay o ®Ieu ®f HsiRI...cdy ®fddr ¢ 3w s do
3Mg® el 3 Bfaar & dd dd goe diel urd ofdl &l wdbal |8 fadarl o e el 3
g ufd wfdare =l adl oeevr 1 el @ |oreay © e uftada @ ql o © wefl
forer i 3w el asal o oft diqy el @) 3uenww wers fFen f& Hafor wiftr @ fole
CIleTel, lel, sWIi 30T 31slel ®I el el &6 | & Wa gl ® e BV ¢ |gad ®
siequf 3ucer 3fi enid adell @) eide wad! 3ifderr 3meia e |

() cemera ot 3mueft feremsit qawr 3ue fEIwil @) T #HAsma ® Wicel faer?
(Ra) F1ETeeN gagl ®I2U aEsil © a8 oS A fHerel ol o 7

(1) JrETCHT oy o ®Igad de3lil © oS oS A aen urefenm @l 7

(a) ®reew & el ufzader o1 gar ufomet g3m 7

(8) gcu & 31gaR Beal o ARl aen & 7

(a) ‘sifaerr st ‘cetar el @ sief feife |

(®) ‘o vl @ & valard e fofee |
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yree1 2 fasafaiffya srcgmer @ ygox uedl © Jcax dfse s (7)

aed offdt @ fole umpfa o airedl 3muefl wayot wuer eifea i =Hice! fAwEe ®x four | 3cax
3 garRl e @t e aren 3w gfoen a1 wed et A aren fedeTar werr @ lag qR der
@] of ®dcel o8l Al A ddlcl @ dfcd 59T Uedl @ wd A o2l @l diewd off wear
2 |3dA I6N, Al ,Adciol ,dedy oiedl WACIHR §8el diefl afcell fAdmercdt € | 3wam!
enfcal &¢ 8 dell ¥ o®dl @ |d8 §dllcd I =@t W 33 Hleleel &I bt dul Hrldl
2 | 3u®l aifcel ue feldren, R, oddldier ,3ic1amst , afsifeier 3nfe feer weee der fader
® Al &l 3qge ded ¢ |dedlT @ dl aedl &1 wadf osl siar ¢ | afeior, ufegd siie
Rd 4 U G W fow € |3ra AR féd dAsreR 3T §eNel ®f gl oI 36id et
g UgRfd o A 3UERZA®U Ualdl fden 2 | 916 Ueell ®I digld WAl ® ol fdlel 3usiish
diorelt A A vw & Iqdl e siw ufewsft ae o sra offdt 3fir weg © dfa dar wt
Aifd =as ¢ |faterae 3fiw afeivr © uor @ 3mell Zewar @ | oefer,and, o[l 3nfc sifeen
@ Bal 316191 & 2 | U=l 31 wuaT ®f waeil @ akd | afe 3wwl fadeyde 3ueier foen
5E dl afred sisl off ‘wilel @t fifser weenl wwar & elwd dgel siel difeem @ qof
g |ArR © Urdlddd 3Je dal @l Slodiwerctt € |sftaer 3t St @t 9a 3w e
A3 Uz fadar wva det 3ufavcl @ zaen @l &5 | e el ® Ascea ol 3T
ufdfeda @wal dret ufeice eI wemReT 3iw deeiRa @ oo Jdl &8 | arcdif®, @
,®Ifcicrd ,deTelard 3w odie gl sedsifal A dar ge | dseiRa ® faver d oar smar @
fo FERRa A wa ©© 2 30z st ol 8,08 @dl adl 2 | ser-faser © 3 s i eft
Ard faga ®I ver yeei® <&l & | wwd, |Nd ,azlsidet ,3ieisle, udsiell, ufvife, ®ifcea
snfe” facaredt ot fafdewn afvia o1 ,=ifdy ,@rwwor | zoedfa | sefers s fawed
AR 3 3ol sffdier fHers 2 |

() oia fow wiual ©I waefl & den oo ®vwel U a8 311 off wiel @) ffsar wwen
Dl B!

() facy @i fo sme faae © &5 & eea faea ©1 ver ueefe <ar 2 |

(1) eRaw & fedaeTer @t fber &) favivasi @1 3ecixa foar & 7

(a1) Bler Yol A FABYEN of §¢ Udel 8ffd Ux Sledt forem 7

(8) =mw, WA ,awsfafer ,3mfere, udsicll, wifvifa, @ifcear sufe faqamw ot fde fawed &
3aroft eifdiaer foters & |

(7a1) ‘ver yeeie eres @1 sief el |

(o) “Aenfetal’ ore 3 # el eeq T YA 316191 BifoiE |

Page 9




el 3 ufoad &l @ yepw Y8 I uedi @ o dfHe - (6)

faee odaTd del T A o il Dy |
=1a faeieft o 53 foid &t =1 &S | |
faew o5 @ sitorfol ot durs |
fae1 =qor uieft faer foizater o7 =g | |
5ig & e a9 & «fe 3@ sfT @ & anfe
a sifeear fafe srnm s duw dren sufe| |

(w) ofd a ofdar o1 e fAfae |

(7a) =rer faeieft @t aen cen it & 7

(a1) ®fad fedcw @ wel wwaet @ wels e & 7

(a1) feicw s fole @or owar & 7

(s) ofd @ srgare agl ‘& @1 g sef &7

(a1) ®fd & sogar AR 3= ®I 3itwr dd fde aer 7

ued 4 ufdd Il ®f Ugmw U 9 UTEll @ o dfse - (5)
T oft ued i facmet o1 cerar en| vw wer oft fda ciwr doar usrs en | Hiwr uia €t
glcel A fAwemr Acrer A 31 siar 3w waft dofl 3uletar weft wer ®f fdafcet
38Idl 3T ®dl s wrefl fdc srn al ysen & oo | wafl ardlar uw gem odld ®g @
2| wefl wicw Ux WA 3 316 W8 Td §E dHlcwdIT BI 3166 361 e & | cifdbd mare
d 31d & 93 HISIEd oI 98 G ®U GRadT Ul Hrd Sid | 3610l Usell wdic] AT
gldl...®wal & 7

() a6 @ ci=ad @1 o fofwe |

(=a) B 1S BT ol el a =il of olaTar em !

(1) cRaw @ fde1 el A 31eic 3mar en 7

(u1) a8 en$eiea ) 3ma BIC oS UT PiEr Tl 30T e !

(s) ‘urvr wpRa sTen’ JEIAR Bl Al A URiel Bl |
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Subject: Mathematics

Q-1 By using Euclid’s algorithm, find the largest number which divides 650 and 1170. (1)
Q-2 Explain whether the number 3 x 5 x 13 x 46 + 23 is a prime number or a composite number. (1)
Q-3 If HCF of 144 and 180 is expressed in the form 13m — 3, find the value of m. (1)
Q-4 Find the value of the polynomial 5x —4x? + 3atx =2 and x = -1 (1)
Q-5 Determine the values of p and g so that the prime factorisation 0f2520 is expressible as .
23 Xy XqgxT7. @)
Q-6 Express the number 0.3178 In the form of rational number a/b. (2)
Q-7 The LCM of two numbers is 14 times their HCF. The sum of LCM and HCF is 600. If one number is 280,
then find the other number. (2)

Q-8 The decimal expansions of some real numbers are given below. In each case, decide whether they are
rational or not. If they are rational, write it in the form pg. What can you say about the prime factors of q?

)
(i) 0.140140014000140000... (i) 0.16
Q-9. Show that 9" can not end with digit 0 for any natural number n (2)
Q-10 Prove that \2 is irrational. (2)
Q-11 Express each number as a product of its prime factors: (2)
(1)3825 (i1)5005
Q-12 Given that HCF (306, 657) = 9, find LCM (306, 657). (2)

Q-13 The following real numbers have decimal expansions as given below. In each case, decide whether they
are rational or not. If they are rational, and of the form, p/q what can you say about the prime factors of g?

2)
(i) 43.123456789
(i) 0.120120012000120000
Q-14 Check whether 6" can end with the digit O for any natural number n. (2)
Q-15. Find HCF and LCM of 13 and 17 by prime factorisation method. (2
Q-16. Prove that 2 + 35 is an irrational number. (3)

Q-17 Show that the square of any positive odd integer is of the form 8m + 1, for some integer m. (3)
Q-18. Find the remainder when x3+ x? + x + 1 is divided by x — 12 using remainder theorem.  (3)
Q-19 Prove that 2v3 — 1 is an irrational number. (3)
Q-20 Prove that the product of any three consecutive positive integers is divisible by 6. (3)
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Subject: Science

Objective:

@ Revision of concepts

@ Application of the concepts to real life situations.

@ Skills to carry out research work and develop scientific aptitude

Instructions:

*Neatly write all the answers in your science notebook.

*Attempt the questions keeping in mind the weightage of each question.

*Assignment ‘Summer Holiday Homework’ will be created on TEAMS. PDF of handwritten work should be
uploaded on it.

Research Project
“India is the world's third largest producer and third largest consumer of electricity.
The national electric grid in India has an installed capacity of 382.15 GW.”

Prepare a report on the following:
1. a) Energy conversion taking place at any BSES power generation plant.
b) The load sanctioned for your house. (Refer to your electricity bill or
use websites for load calculation). How is it different from the load sanctioned
for commercial purposes (Example: factories, showrooms etc.)?
c) ‘BSES Rajdhani Power Limited Solar City Initiative’.
2. The metallurgical processes involved in the extraction of the metal, which is used to
make electrical cables. Organize the information collected under the following sub headings-
i) Definition and significance of metallurgy.
i) Name and formulae of the ores of the metal.
iii) Specific processes and chemical reactions involved for extraction of the metal with
neat and labelled diagrams.
3. BSES power generation plant impacts the environment in many ways. Find out about the various pollutants
and organise the information collected under the following sub headings-
) Types of emissions (Solids, Liquids and gaseous)
i) Effect of these emissions on human health
i) Preventive measures taken
a) by the Government  b) by the local people.

Worksheet 1 -PHYSICS

Q1. Name the instrument which measures i) current ii) potential difference in the circuit.
Also mention the unit in which these instruments are calibrated. (2
Q2. Calculate the current in a wire if 1500 C of charge is passed through it in 5 minutes. 2
Q3. A steady current of 5 amperes flows through a circuit for 30 minutes. How much charge
has circulated through the circuit in this time? @)
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Q4. Calculate the number of electrons constituting one coulomb of charge.
Q5. The resistance of an electric iron is 48 Q and an electric current of 5 A flows through it.

What will be the potential difference between two terminals of the electric iron?

Q6. Following graph was plotted between potential difference and current.

i [l i i i 'l
T L) L T T

o 02 04 08
i (amp.) —>»

What would be the values of V /I ratios when the potential difference is 0.5V, 1.0 V and
1.6 V respectively? What conclusion do you draw from these values?

Q7. A wire of length ‘L’ and area of cross section ‘A’ is stretched to twice its length. What
will be the new resistance and resistivity of the wire?

Q8. The figure below shows three cylindrical copper conductors along with their area of
cross sections and lengths. Compare the resistance and the resistivity of the three

conductors. Justify your answer.

L/3

(@) (b)

Q9. How does the resistance of a wire change when
a) its length is tripled?
b) its diameter is tripled?
Q10. A copper wire has diameter 0.5mm and resistivity of 1.6 x 10 Qm, what be the length

of this wire to make its resistancel1 0Q?
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Worksheet 1 -CHEMISTRY

What happens when aqueous solution of potassium iodide is added to the aqueous solution of lead

nitrate? (with chemical equation) (1)
Differentiate between exothermic reactions and endothermic reactions with one example of each.
(2)
A zinc plate was put in the solution of copper sulphate kept in a glass container. It was
found that blue colour of copper sulphate solution fades with time. After few days when
zinc metal was taken out of the solution, a number of holes were observed on it.
Q) State the reason for changes observed on the zinc plate.
(i) Write the chemical equation for the reaction involved. (2)

. Write any four observations that help us to determine whether a chemical reaction has taken place.

(2)
Differentiate between single displacement reaction and double displacement reactions with one example
each. (2)
. Write any two observations when lead nitrate crystals are strongly heated. Also give reasons for the
observations. (2)
Identify the type/types of chemical reactions in each of the following- (3)

i Iron (111) oxide reacts with aluminium and gives molten iron and aluminium oxide.
ii. Magnesium ribbon is burnt in an atmosphere of nitrogen to form solid magnesium nitride.

iii. Conversion of vegetable matter into compost.

iv. Quick lime and water are mixed.
V. Limestone is heated.
Vi. Barium hydroxide is mixed with ammonium chloride.

The green-coloured crystals on heating strongly, produce a mixture of gases with the characteristic

odour of burning sulphur and a brown residue is left behind in the (3) boiling tube.

(i) Write the names of the reactant and products.

(if)Give the relevant chemical equation.

Identify the type of chemical reaction involved.

9. Explain the following with one chemical equation each- (3)

(i) Black and white photography

(i) Whitewashing of walls

(iii))  Respiration
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10. Write balanced chemical equations for the following chemical reactions and write the names of the

products in each case:
(a)When electric current is passed through water.
(b)When iron nail is placed in copper sulphate solution.
(c) When aqueous solution of sodium sulphate is mixed with barium chloride
solution.
(d) Methane is burnt in air to form carbon dioxide, water and heat.
(e) Carbon monoxide gas reacts with hydrogen gas at 340 atmospheres.

Worksheet 1 -BIOLOGY
1. How is the the inner wall of stomach protected from the acid present in it?
2. What is the role of bile in the digestion of food?

3. Explain the mechanism of photosynthesis.

4. How does a leaf adapt to play an effective role in the process of photosynthesis?

5. In certain plants, stomata remain closed during the day. How is food synthesized by
such plants?

6. How does diffusion help in performing several life processes in single celled

organisms?

\‘

. Explain with the help of diagram how amoeba takes its nutrition.

oo

. Differentiate between saprophytic, parasitic and holozoic mode of nutrition.

©

. Differentiate between intracellular and extracellular digestion. Explain with the help
of examples.

10. How do guard cells regulate the opening and closing of stomata? Explain with the

help of a labeled diagram.
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Subject: Social Science

Worksheet 1 -Political Science M.M: -20

Q.1  Why power sharing in desirable? 2

Q.2 Do you think that ‘Democracy is the best way to fight for recognition and also to
accommodate diversity’? 2

Q.3  Why is it very difficult to make changes to the power sharing arrangement between the Union
Government and State Governments? Explain with examples. 2

Q.4  Explain how power is shared among different organs of government. 2

Q.5  Describe any three demands of the Sri Lankan Tamils. How did they struggle for their demands?

2

Q.6 What is Majoritarianism? How has it increase the feelings of alienation among Sri Lankan Tamils?

Explain with examples. 5

Q.7 How have Belgium and Sri Lanka dealt with the question of power sharing

differently? 2
Q.8  Why is the ethnic composition of Belgium very complex? 1
Q.9 Differentiate horizontal and vertical power sharing in modern democracies. 1

Q.10 Which language is spoken by the majority of population in Brussels, the capital city of
Belgium? 1
Worksheet 1- Geography M.M: -20

Q.1  Materials in the environment which have the potential to satisfy human needs, but human beings do not

have appropriate technology to access them are called: 1
(a) Potential resource
(b) Stock
(c) Developed resource

(d) Reserves.

Q.2  “Land is a resource of utmost importance”. Justify the statement. . 1

Q.3  What do you understand by the term Resource? 1

Q.4  What was the objective of Rio de Janerio Earth summit 19927 . 1

Q.5 Mention the states where overgrazing and overirrigation are responsible for degradation. (one under
each category). Yax =1

Q.6 Mention the variety of relief features in India with reference to percentage and uses. 1

Q.7  Differentiate between potential resource and developed resource. 2
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Q.8  What are ravines? Mention methods of soil prevention in hilly area. 2
Q.9  Name the most widely spread and important soil of India and its region of occurrence. Write any three
characteristics of this type of soils. 1+1+3=5
Q.10 What do you understand by the term planning? Explain three stages of resource planning in India.
5
Worksheet 1- Economics M.M: - 20
QL. Development of a country can generally be determined by (D)
(a) its per capita income
(b) its average literacy level
(c) health status of its people
(d) all the above
Q2. Explain the Human Development Report. (2)
Q3. What is the main criterion used by the World Bank in classifying different countries?
What are the limitations of this criterion, if any? (2)
Q4. Define the Organised Sector and explain the working conditions. (2
Q5. Why do you think MGNREGA 2005 is referred to as ‘ Right to work’? (2
Q6. Explain the difference between primary, secondary and tertiary sectors using
examples. 2)
Q7. What do you understand by disguised unemployment? Explain with an example each
from the urban and rural areas. (2
Q8. Distinguish between open unemployment and disguised unemployment. (2
Q9. Why do we use averages? Are there any limitations to their use? Illustrate with your
own examples related to development. (2)
Q10. State a reason why intermediate goods are not considered in the value of final goods. (3)
Worksheet 1- History M.M: -20
Q1.  Who was the writer of the book ‘Hind Swaraj’? 1
(a) Rabindranath Tagore (b) B.R. Ambedkar
(c) Mahatma Gandhi (d) Jawahar Lai Nehru
Q2. Khilafat Committee was formed in 1919 in the city of 1
(a) Bombay (b) Calcutta
(c) Lucknow (d) Amritsar
Q3.  What does satyagraha mean? Choose one from j the following options. 1
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Q4.

Q5.

Q6.

(a) ‘Satyagraha’ means use of physical force to inflict pain while fighting.
(b) ‘Satyagraha’ does not inflict pain, it is a non-violent method of fighting against oppression.
(c) ‘Satyagraha’ means passive resistance and is a weapon of the weak.
(d) ‘Satyagraha’ was a racist method of mass agitation.
What was the purpose of imposing the Rowlatt Act? 1
(a) The Rowlatt Act forbade the Indians to qualify for administrative services.
(b) The Rowlatt Act had denied Indians the right to political participation.
(c) The Rowlatt Act imposed additional taxes on Indians who were already groaning under the burden of
taxes.
(d) The Rowlatt Act authorised the government to imprison any person i without trial and conviction in
a court of law
Identify the two leaders who led the Khilafat Movement. 1
(a) Gandbhiji and Sardar Patel
(b) Abul Kalam Azad and Jawaharlal Nehru
(c) Muhammad Ali Jinnah and Abul Kalam Azad
(d) Shaukat Ali and Muhammad Ali
In which of the following places Mahatma Gandhi organised satyagraha for the first time in India?
1
(a) Dandi (b) Ahmedabad
(c) Kheda (d) Champaran

Q7. Explain the idea of Satyagraha according to Gandbhiiji. 3

Q8. Explain the reaction of Indian people against the Rowlatt Act passed through the Imperial Legislative
Council in 1919. 3

Q9. Explain any three facts about the new economic situation created in India by the First World War.

3

Q10. Explain the impact of Jallianwala Bagh incident on the people. 5
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Subiject: Information Technology
Chapter -Digital Documentation (Advanced)

QL A is used to apply a group of formatting effects together to the text, paragraph or a heading.
a) Labels b) Mail merge C) Style d) bothbandc 1

Q2 A Template can be created in Writer by saving a document with extension.
a) .odt b). ott c).dbm d) .ods 1

Q3 The button represents the start of a hyperlink that doesn’t appear on the default Structure line.
a) LE b) LS C)# dT 1

Q4  How can you know the name of the style of current paragraph? 1
a) through the status bar
b) through the style box

c) through the find box
d) through the standard toolbar
Q5 Once we have created the Table of Contents, we have to ensure that it must be maintained. What does it
mean? 1
a) Define hierarchy of headings
b) Creating Index/table
c) Update Index/Table
d) Defined random headings

Q6  Write the benefit of creating TOC in any document. What is the mandatory point one has to keep in

mind for successful creation of TOC in Writer? 1+1=2
Q7  What are style categories? List few popular style categories. 1+2=3
Q8 Define a template. How to create a new template in OpenOffice Writer? 1+2=3
Q9 Explain the purpose of any four tabs which appear when you double click the inserted picture in OO
Writer. 1x4=4
Picture

Type Options Wrap Hyperlink Picture Crop Borders Background Macro

Names

Q10

PRACTICAL WORK:

Perform the following practicals on OpenOffice Writer and mention the steps with screenshots in a word
document.

1) Objective: Create & Update a new style from the selection in the Style gallery and apply them in the
document.
Task: Create new styles in OpenOffice Writer with the following specifications and apply them in a document.
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Style Name: IT Content

Style specifications:

Fonts: Name — Rockwell, Size — 20 pt, Bold

Font Effects: Font Colour — Blue, Single Underline, Shadow

Or
Style Name: Cyber Crime
Style specifications:
Fonts: Name — Rockwell, Size — 20 pt, Bold
Font Effects: Font Colour — Blue, Single Underline, Shadow

2) Objective: Wrapping text with images

Task: Write 12 to 15 lines about Virtual Reality and use a few pictures to display the wrap text feature.
Or

Task: Create a poster on ‘Global Warming’ including all the appropriate drawing objects and images.
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